YRk 2 THEERFERIMXBEFRY 7 N T =AKRE

HEf a2 7428 A1 7H (H) FRISK3 047

T

T BRTTY 7 b= AHE

miREY 7 T = A5

BFHAEEA A V=T HAEEDER

B WAt R = A= —h
%% - JLEDHT Rt

AV—7
Ky E I 1 2 3 . B, NEAE
1 BPFBER ©) @ 2 0 1
2 Zaplin=n-a @ 1 1 2
3 EFE 0 1 0 2 3
BY—7
Ky E I 1 2 3 . B, NEAE
1 e 0 1 0 2 3
2 PN T3 ©) 1 1 1 2
3 ez @ @ 2 0 1
CV—7
5 E I I 1 2 3 i FU NEAT
1 SR ® @ 2 0 1
2 IR 0 @ 1 1 2
3 BE 1 1 0 2 3
DV—7r
5 E I I 1 2 3 i FU NEAT
1 Rilis 0 1 0 2 3
2 BYPUR @ @ 2 0 1
3 SR Tk ®) 1 1 1 2
NET TR 7 ik
A3fr (1 B ) @ — 0 ( HE ) B3{L
C3fr ( #HE ) @ — 1 (  RlA ) D31
P st L R R
QAL ( BRFRER ) @ — 0 (  &REE ) C2/r
@B1fz ( wiRdcpE ) 1 — © ( &Rk ) D2
@C 17 ( AR ) 1 - © (. alEmsE ) A2
@D 111 ( &P ) @ — 0 ( BT ) B2/r
HEIR s
O ( &WRFEER ) @ — o ( &R-Kk )®
® ( B)lEH ) o — © ( &RRE ) ®
N7
Q@ ( &IFERR ) @ — 1 ( &RRE ) QOO#H
B B CR/NES HER  SPURE 3 A ARTK-A)EE




YRk 2 THEERFERIMXBEFRY 7 N T =AKRE

HEf: a2 7428 A1 7H (H) FRISKE3 04y % - WdbiiRT =2 =— |
T &RTY 7 Fr=2s ¥ RREY T P =28 %E - ACEHRL

RFHAEEA A V=7 HAEEDER

AV—7r
Ky S S 1 2 3 . B, NEAE
1 BPFBER ©) ® 2 0 1
2 SRININT) 0 @ 1 1 2
3 A IR 0 1 0 2 3
BYU—7
Ky S S 1 2 3 4 s a5 B NEAT
1 SRINGHES ©) © © 3 0 1
2 B 0 @ © 2 1 2
3 raplin=n 2 0 1 1 0 3 4
4 Rilia 0 0 @ 1 2 3
CVUV—7
B S S 1 2 3 4 Bl | AR NEAL
1 BIRBE @ © @ 3 0 1
2 PR 1 @ @ 2 1 2
3 5 0 0 0 0 2 .
4 &R K 0 1 © 1 2 3
sV —7
Ky S S 1 2 3 i a5 i NEAT
1 AR 0 0 0 2 3
2 ERFBER €) 2 0 1
3 ERNHES @ 0 1 1 2

(37 BIRFPER R @R 3L R

—




YRk 2 THEERFERIMXBEFRY 7 N T =AKRE

HEF: Ppk2 7828 H1 7H (A) Ari8KE3 04 ST : WdbiR7T =22 —}
T BRTTY 7 b= AHE T EEY 7 b T = A %42 AbEHET R

BFEGEEY 7 —7 MHArebEE

XVU—7

i EE S 2 1 2 3 4 2 =P JEAL
1 AR T B 0 1 ) 1 2 3
2 £ B ® 1 ©) 2 1 2
3 GIRR B @) @) ®) 3 0 1
4 BT T¥B 1 0 0 0 3 4

YV—7

i KR 4 1 2 3 4 B =P JEAL
1 wRIEEEB 0 @) 1 1 2 3
2 SPR LD ®) @ @ 3 0 1
3 WBSET¥C 1 0 0 0 3 4
4 BIIEB © 1 ©) 2 1 2

ZV—7

i EE S 2 1 2 3 4 B R B R JEAL
1 HEB 0 0 0 0 3 4
2 &R KB ® 0 0 1 2 3
3 EIRFPER B ©) ©) ©) 3 0 1
4 SRR LC ©) ©) 0 2 1 2
N

Yifz ( @URED ) o — O ( ®WFPBERB ) Z14L

w

X1z ( @&fRREB ) — ( @RFBERB ) YZ DR



YRk 2 THEERFERIMXBEFRY 7 N T =AKRE

HEf: a2 7428 A1 7H (H) FRISKE3 04y % - WdbiiRT =2 =— |
T &RTY 7 Fr=2s ¥ RREY T P =28 %E - ACEHRL

RFHEEY 7 ) —7 MHArebEE

YVU—7
i oK 4 1 2 3 4 2 =P JEAL
1 SRR LB ©) ©) 0 2 1 2
2 EPRIRAB 0 0 0 0 3
3 BIIEB 0 ® 0 1 2 3
4 BIRFEEB ©) @ ©) 3 0 1
ZV—7
i KR 4 1 2 3 4 B =P JEAL
1 &R KB @) 1 @) 2 1 2
2 HEB 1 0 0 0 3 4
3 SR LB @) ©) @ 3 0 1
4 IR C 1 ® 1 1 2 3
YEPR
Y14r ( @&RFEEB ) ®@ — 0 ( @IRZKB ) Z2{L
Y2fr ( &PRUREB ) 1 — @ ( &RBEB ) Z1{7
N

( &REXEB ) ®@ — 0 ( &REEB )



